HIA -z 2022/7/9 R BH i
Bt BRAEE Wil -EREPF AR EERE RS
B4 HIAR—Y /8 — g EHiH5 FLER AT il
F R4 - ARG Y B2t 4 SERTARN RN Nk K5 A e
B £t &R  LivA 201 3z YT 5L 641 ™ 8fir
TR KB 24.09 (-0.8)|H EPK 25.74 (-0.8)|#% 1@ A 25.79 (-0.8)|&#H =12 26.20 (-0.8)|fA 1ot 26.42 (-0.8)| =K FHi 26.58 (-0.8)
@B+ | TH9H 200m
et R F=EEP FEHSP =H*F BAE R ERGEF
. L00m Rt B2 53.96| &4 BE— 57.43|#% Az 58.99|BE\L  thiE 1:00.88(#0i#E BE(= 1:02.20[ EAR KRF 1:02.63[0 1% 1:03.04|7% &t 1:04.03
LFEHF GR|= EHF AiEF SPELs ks Syides =HF
. S00m B BF 2:05.60(H* f£iE 2:05.84(ik 1&1F 2:26.43[/11 KBt 2:32.42|3r%  #Es 2:38.19|"/%&  BE— 2:40.81|F9H BN 2:43.98
Sy B B et R EFEHEF Syides SEPUES
. L500m MEE  BE 4:36.65|BIR  BIR 4:42.64|FH AR 4:44.02|KTF  #l3k 4:54.32|% & fEA 5:03.03[#Zh  FEX 5:08.66[/\11 Kt 5:11.38|BE kA 5:12.97
Sy iR Bt R LEEMAF K& =H*® Bt R A R
2ot | 3000m WTF 187 10:01.07|Bk  HEE 10:03.68|&HH EAEB 10:05.92|i+ &% 10:36.61|/)I1  BE&B 11:06.73|&E#E A 11:32.90| 7+t FFY 11:37.98| RE xF 12:26.94
SRy B BEtH R B [Sydes KA Syides FEHESF
200 | 1iomn w A 1752 (-33)[HAR KT 1952 (-33)|&F KIB 20.35 (-3.3)|l8F =R 21.30 (-3.3)|®HE %M 21.77 (-3.3)| g #EMA 22.40 (-3.3) |8 1&0 23.02 (-3.3)[;5)11 4I¥E 27.24 (-3.3)
FEHEF ikl =HEF [Sydes FEHEF AR =HH BEfH R
EZMAFA 47.08| ZHEFA 47.91|AEFK 48.57|EMEFA 49.82|BEfRFRA 50.72|FiDEEH A 50.77| EEHE+B 50.78
FH PR WE nE AR BIR AR RE— HHE X T S P G
THO9H | 4x100mR |BA £E AR sk HAE FEE izl N HAR KT TREE I2RR AR B
WA EiE & o B ) E NI KB LB BRZ Ha T8
Kith e E=H =18 B §BF FEONE 2 N il BE Bt HRE
S L EE 1.70[hH BB 1.63|BAR £E 145|154 K B 145|Fm2 1.35|f54 K #E 1.30
B BiEF FEHEP ESC LS EHF F=EHES
S mR HE 5.76 (+0.6)|EHE = 5.28 (+0.7)|ER K 5.25 (+1.4)| A2 4% 5.09 (+1.1)|=x == wb.02 (+2.1) |3 R 5.01 (+1.9)|X¥F KM 474 (+1.2)|HLE H==E 4.74 (+1.9)
Sydes EHF KA EH+ EFHEF R+ BiEH F=EHEF
S B KB wl12.55 (+2.3)|taAk FZ= 11.85 (+1.2)|R 327 10.79 (+1.3)|=@A & 10.44 (+1.4) 5t #TAEtH 10.36 (+1.3)|5x S} 9.87 (+0.8)|ug  #=EH 9.73 (+1.3)
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ion | rs wAR X 9.98|F# 1ZA 9.06|’EE A 8.75|xR= B 8.70|# M 1= 855|EH R 8.18|&)Il I 71538 AR 7.12
E=EHF KR KA EPELy R =H*® BEtH R EFEF
on | s B4 B2 23.17|EH BEBR 22,6791 223k 20.45|\LA —iE 20.19|tk4 K EE 20.01|A M BA 19.90|RE B 17.61|B8M  IFEAER 16.66
B =@+ Syide EF=EHF E=EHEF EFESH BE A Syides
) HE T8 1578|713k &= 1101EH R YR ESES [ 320
THIR | DUFEHIE: N L
E=EHF F=EHEP = I R =R
7TH9H | 110mH 19.02 (-2.0) 20.55 (-2.0) 21.84 (-2.0) 38.16 (-2.0)
7TH9R | FusE 7.42 6.62 6.72 5.43
TH9H 7 e Bk 1.40 1.35 NM NM
THIR 400m 57.61 1:06.21 1:14.23 1:11.71
venr | o L00m A AR 13.30 (-2.0)[s1H  ®HE 13.36 (-2.0)[BAR KE 13.84 (-2.0)|E=® + 14.08 (-2.0)|# K 14.35 (-2.0)|®A #7FE 14.97 (-2.0)| A% —=E 15.21 (-2.0)|@m =& 15.23 (-2.0)
®E E KR EHoEF LEHAF =H* Bt R F=EHES
on | 1500m #  BLEA 4:42.943EA #HH 4:57.66|R $5F 5:08.65| &M EHzZE 5:28.21|ILAx  EHE 5:28.59|&F#F B 5:31.21|5T B 5:39.64|8TH A 5:40.36
SpLes GR|H:ZF B =EH* Sy da KR E¥oE Bt R
BT A 12.81 (-2.3)| &M fhnse 12.82 (-23)|R 3R 12.93 (-2.3)| L% R 13.07 (-2.3)|iEs = 13.23 (-2.3)[\#& A 13.28 (-2.3)[##E L &= 13.60 (-2.3)
2951 TH9H 100m
®E F=EP EHF Y4 EC L F=EHESP K
A L00m MH =H=E 12.24 (-1.4)|FR Bk 12.32 (-1.4)|aTH && 12.34 (-1.4)[kA  &PK 12.71 (-1.4) (@A a1 12.87 (1.A)|=K F& 12.98 (-1.4)|ER K& 13.08 (-1.4)[ihp =) 13.37 (-1.4)
AEH EHF L F=EHEF BEH F¥cE K FRIDES R
KA 50.54| EFEHFA 51.68| A EF 51.82|ZHF 53.27| =R A 53.54| &+ B 55.03| EEHE+B 56.28
BT A T HAst Bl thEE 7 NN B4 £R M)l B T hatE
IRZET T | THOR | 4x100mR [5#)1  fHAEA hH A #0 Zip| kKl B BT & R BE A 2
R KE Bt E A 5LhEA BN ZF g EERR EE AR HrE =&
B4 B2 NI /A WF 1B B 3 BEE  FEARB BEA K8 BREE
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